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Note: Write answers to the questions on the objective answer sheet provided. Four possible answers
are given. Which answer you consider correct fill the corresponding circle A,B,C or D in
front of each question with marker or ink on the answer sheet provided.
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1.1 Fourthtermof a, = ;T:}:-I is: Wil 2da, = an_l 1.1
) c ®) 5 © = ®) 0
2. Next termof 12,16,21,27 : eyt 12,16,21,27 2
(A) 35 (B) 30 (©) 31 (D) 34
3. IfU={1,2,3}, A={1}then U-A=? U={1,2,3}, A= {1}/ &> U-A 3
(A) {2,3} (B) {1,2} © {1,3} (D) ?
4. (ANB) =7 (AnNBY =7 4
(A) (AU B)Y ®) A UB © A" NB D) AUB
5. Forx=1lin2x+y=6wehave y=? ?Jyzg.;,fd’y e x= 1t 2x+y=6 5
(A) 8 (B) 4 ©) =8 D) -4
6. The score which occurs most often in a set of data is called: L(}M 2Tz /,;LJL_/U:,VU" 2l 6
(A) Mode 2l (B) Mean Lot ~(C)  Median 2k (D) Geometric mean 41~
7. Fraction form of 70% is: ‘. LS8 70% 7
(A) 7 ®) e  © v ® 7/
8. 575 in terms of percentage is: :4‘_ny&&2-76 8
(A) 35% (B) 35 ©) 20 D) 20 %
9. Ona crop prodiced on natural resources Ushr is deducted at a rate of. PR AN /“'/,J‘; KA RN P 9
(A) 2.5 % (B) 5% ©) 10 % (D) 20 %
10.  If there is one daughter and agnatic grand daughters, their share are: Ly, yb’ulc,d,ujt_p&fguqﬁ ,z,:JJ,,/,,:(j}eg 10
) 2 (B) s © 1 - O 3
11. Loss is there when: ' :/:‘uww' A1
(A) SP = CP esped=g il (B) Sp <CP e el <y tad
(C) SP = MP eijped=edtnge; (D) SP > CP edped>yied
12. The person or entity whose insurance is being done is called: (2 ednde S A2 /’,’LJ;’A » 12
(A) Insurer w81 < (B) Insured 5 (C) Drawer A (D) Lessee $A
13. The tax in addition to the price of article is called: el YA detedd 2y 13
(A) Tax ‘,fg (B) Sales tax Jg # (C) Income tax ﬂ ‘fl (D) Excise duty 355 {81
14. In+/3,3 is called: sV 33 14
(A) Radical .p (B) Radicand .,¥ (C) Integer é" (D) Natural number  su.d
15. Ina™,nis called: wimta® 15
(A) Radical e (B) Radicand .# (C) Exponent Vesd - (D) Base U
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General Mathematics (ares) subjective) Group - I

Time: 2:19 Hours
Section - I

2. Write short answers of any six parts of the question. [2x6=12)

(i) I 82% of the houses have a television. What is the percentage of
the houses which do not have?

(i) What is difference between extremes and means?
(iii) Ifa:b =2:3thenfind6a:5b ~
(iv) What do you mean by Ushr? What is the rate of Ushr on agriculture products?

(v) Calculate zakat on a silver amounting Rs. 300,000.

(vi) Find Ushr at a rate of 10% on an amount of Rs.100,000.
(vil) A bicycle was purchased for Rs. 3450 and sold for Rs 3850. Find
the profit percentage.
(viii)  Find the SP, when CP = Rs 480 Profit = 3%
(ix)  Find the marked price when SP = Rs 2400, discount = 4%,

3. Write short answers of any six parts of the question. [2x6=12]

(i) Define mark up and also write the formula of annual mark up.
(i) A computer price is Rs 34800 inclusive of 16% sales
tax. What is the original price of the computer?

(if)

Define excise duty and explain with example.

T yn
Simplify: P o

{iv)

(v) Simplify: Bxytxxtxylxxixy’

(vi) Convert into scientific Notation: 0.00000075
(vii) Define arithmetic sequence and also write general formula for G. M. ?
(viii) Find the 5" term of a G.P in which : a=2 and r=3
(ix) Find G. M between 4 and 9.
4. Write short answers of any six parts of the question. [2x6=12]

(i) Find A® if

(ii) Find the domain and range of R if:

U={1,23, - 20}, A= 9,10, 11, 12, -
R={(1,3),(2,4),(3,4)}

(iii)  Write commutative property of union of sets.
(iv) Represent on graph: D (6, -3)
(v) Convert 20 °C into °F

(vi) Define Cartesian Plane .

(vii) Define geometric mean.
(viii)  Find median for data 5,4,5,4,3,4,2,6

(ix) Find range of : 6,8, 10,14, 13,12

Section - IT

Note: Attempt any three questions from the following: [8x3=24]
5. (a) Ifthestay of 12 men for 28 days in a hotel costs Rs 6720.

Find the cost for the stay of 8 men for 14 days in the hotel.

(b)  Find the cost price, if a fan is sold for

Rs 1470, to get a profit % " of its cost price.
Calculate the amount of zakat on 10 tola gold and 40 tola
silver, if the rate of gold is Rs 40000 per tola and the rate of

silver is Rs 5000 per tola.
(b) At what annual rate of profit would a sum of Rs 680 will
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increase to Rs 850 in 3 years and 4 months? ?‘fz‘(-“‘%”s50‘-’“"‘4dl/3/"7-"'%”680f"'{’4dl’z“/"m"/
7. {(a)  The price of a bicycle is Rs 3500. If 16% sales tax is SuKFLs02L19 5 16%6;(}3’?*/'14-4»3500@2&;’:@9
charged, then calculate the amount of sales tax on 50 such - T cF o J: e,
bicycles. U e
’ 2.38 x 3901 P
(b)  Solve with the help of Logarithm table: e il Ju_:&/ L
8. (@  Whichtermofan A.P. 6,2, -2, - is -1467 te 1460510 6,2, -2, ~mmm ik g?

(by IA={2,4,6) B={3,6,9,12} C={4,6,8, 10} then
provethat (ANBYNC = AN(BNC)
A(2, 3) H B('3’ 4) > C(4a '5)
2,3,6,8,11
226-09-A

9. (a) Drawa triangle with the help of the give points:
(b)  Find the standard deviation of values

J C=1{4,6,8,10}2B={3,6,9, 12} sA = {2,4, 6}/7
(ANB)NC = An(BNC)y/et
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Note: Write answers to the questions on the objective answer sheet provided. Four possible answers

are given. Which answer you consider correct fill

the corresponding circle A,B,C or D in

front of each question with marker or ink on the answer sheet provided.
B SAp S erznl S, h_.«l';'lb/.,«lﬁu/:f*égdlz-u,?i’c:) DCBA=YZ A e LIy 1

1.1 The company undertaking act of insurance called: - ci%abzﬁl’f F Ly red
(A) Insurer 2% (B) Insured 5% (C) Insurance J# (D) None s

2. Tax charged an owner of house is called ------ tax. -w;fgg ------- S S el /C’Jg »
(A) Income [t (B) Property 34 % (C) Indirect erinls s (D) Direct el

3. V7 iscalled: AT
(A) Radicand . (B) Radical e (C) Rational Jt (D) Natural number A4

4. The logarithm calculated to base '10' is called: Yuj;fy’ ff (" K :’Zéd’ Jarogd
(A), Mantissa (v (B) Common logarithm ("’ V1041
(C) Characteristic b (D) None o &

5. For2,6, 11, 17,-=mmmemev , as is: sefedd asut2, 6, 11, 17,
(A) 30 (B) 21 (©) 24 (D) 2

6. G.Mof2and8is: i bs3 K208
(A) 4 (B) 4 (©) +4 (D) 16

7. ANA =-mm- ANA =--—-
(&) A (B) @ © v (D) Nome 74

8. Find domain of R if . R = {(4,5), (5.—4),(5, —6)} :ﬁ,é(}“uf:SJR
(A) {5} (B) {4} © {4, 5} ®)  {-4,-6,5}

9. Perpendicular distance of @ point from y- axis is called: 9§.wf WAoot e sf -y T
(A) Ordinate. "&xf  (B) Abscissa L (C) Origin s (D) Straight line ¢

10. The middle value of arranged data in numerical order is called: :‘5'8“1'( gédmd’” WIS /J(
(A) Mean b (B) Mode 0k
(@] Geometric mean bt/ (D) Median Lo

11 -27—0 in terms of percentage is: :;.uﬁf&wd%
(A) 359% (B) 50 % (©) 20 % (D) 14 %

12. Inthe ratioa: b, "b" is called: :ujifb Sedf ath
(A) Extreme d\:‘/l (B) antecedent eogd (C) Mean  yis (D) Consequent <2 i u’ ¥

13. Rate of Usher on natural resources is: el /"J § 4 c.(‘jlu'(}/ﬁ
(A) 2.5% (B) 5% ©) 10% (D) 20 %

14, Share of son and daughter in an inherited property is: :q,.;.gid/@/,t‘;_,ut.y‘m
(A) 3:1 (B) 4:5 © 8:5 (D) 2:1

15. The price at which an article is sold out is called: -u:ri---———n-_fz_lg\f =31 gLl et
(A) SP wsj=d (B) CP Jed (€ Profit ¢ (D) Loss ol
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General Mathematics (arts) (Subjective) ~ Group - IT

Time: 2:10 Hours WP >~y Marks : 60
Section - I o ‘
2. Write short answers of any six parts of the question. [2x6=12] & Feln Lizigeds 2
(i) iff ifse‘ﬁooyfst’)he students in a schogl are girls. What is the percentage ol P PALENNICES nF 45 % L MLJEn S O
(i) Define ratio and write its symbol. e Crmgl s A (i)
(i)  Find the un-known term in the proportion x :3::60: 15 -;frPoEJ X L£x:3::60:15 (i)
(iv) What is meant by rate of zakat? v Sel Ve 20505 (iv)
M e H s 190008SP WSS S e bssim i 1)
(vi)  Calculate zakat on gold amounting to Rs 1,110,000. 4 rk’s}szzwiné_u 1,110,000=A5 /1 (vi)
(vii)  Find the SP, when CP = Rs, 950 , Profit = 10%. - 950 = 4 /=f10 %8’,?.-5(}”.-,5;);5 (vii)
(vili) - Find the CP, when SP = Rs. 100, Profit = 33 %, 100 = =drjed 33 %8 o e ditys (Vi)
(ix) A book is sold for Rs. 650 at a profit of 30 %. Find the cost price. P ared ST Jd;@u:éuﬁsoéév,wéao?lf L (ix)
3. Wite short answers of any six parts of the question. [2x6=12) S iz linge S 3
@) %1:11]1:1(:[ rt;?e compound profit on Rs 54,000 for one year at 12% per 4 ’5{( o e Vet 2ol 12%L v L rsa000 ()
(i) Define direct tax. Give one example. oLy Sy A ‘f? arnly (i)
i) A computer pxiige is Rg 34,800 inclusive of 16% sales tax. ‘-’q-LfoAfJ"Jf‘-mf—‘cJﬁfg}k lG%u:u*-q_L?.umsoo‘:ufJ}g,/u{f (iil)
What is the original price of the computer?
(iv) Simplify a's x g% /2 (iv)
3
(v)  Simplify 25y1/5 G W)
20y /4
(vi) Write in scientific notation : 0.00000075 s dade (i)
(vii)  Write the first two terms: a, = 3n+5 _gfr}/ s (vii)
(viii)  Find the A. M between V7 and 3v7 B s nLINT T (vidd)
(ix) Find the 11th term of a G.P. 2, 6, 18, —-ceeemmmeeeev ; _“ér}"f./q;l 102, 6, 18, ——nmeemeeeeev A2 (ix)
4. Write short answers of any six parts of the question. [2x6=12] -1 f e Lin g S 4
(i) Define universal set. sl AU werd u:"z; @
(i) IfA={1,4,7).B={4,6,8) ,find AN B and A UB. -E(AUBAANBIxB={4,6,8) A={1,4,7}/1 (i)
(iii) 1fA={3,5,6},B={l, 3} then find A X B and B X A. & # B XA AXBinB={1,3} < A=(3,5,6}./1 (i)
(iv) Represent the point A(6, -3)on the graph. -@ ﬁw/,_su’ I A6, -3)5 (iv)
(v)  Write formula for changing Degree Celsius to degree Fahrenheit. e WS e oAk S (V)
(vi) Define ordered pairs; Eu iy (vi)
(vii)  Find median of : 5,4,5,4,3,4,2,6 :g’rkf:;w/,vqé;uf (vii)
(viii)  Define mode. fel e nl  (vili)
(ix) Find range of : ) 10, 18,9, 6,24 :gf!r)”:)qfdjau (ix)
Section - II (922
Note:  Attempt any three questions from the following: [8x3=24] AL f Mz lotirf e i it i
5. (@ The price of 80 shirts is 22000. What would be the price of 30 such shirts. ?Jn.—ékﬂf u?.:’" 30ufl5"n{__;/22000.:,2 ;fufj 80 () .5

(b) A bicycle dealer offers a discount of 10% and still makes afJ’IJL,ﬁ,L.;_rlfgyézmmgﬁfzft?dl:{ﬂd10)-’56’«/54&;{! (&)

a profit of 26%. What is the actual cost of bicycle, with

marked price as Rs 8407 -n¢s8402dt 42281 il

6. (a) Calculate Zakat on gold of worth Rs. 800,000 cash of amount 9500 sl ers 400,0000 15 &2y 800,000 A Ly (L)

(b)  If the simple profit on Rs 640 for 12 years is Rs. 384 find

7. (a)  Khalid works 6 days per week. Find his gross

Rs. 400,000 and silver of weight 50 tola (Rs. 5000 per tola). FARP "
& (250 (W 20500

the rate of profit.

P an§U P S Ingsapalinl & 124 600l (L)

i sl B BB R A E Tud
monthly wage, If his rate of pay is Rs. 200 per day. - e S A ST 2432001 S b S ¥en6 s ()
.
(b)  Solve with the help of logarithm table: (25.36) 84>7( 5(0'4569) 2 O Jdugﬁrz K9 ()
8. (a) Find the 30" term of 2 G. P. X1, o e el il ()

(b)  Provethat(AnB)NC = AN(BNC)if: A={2,3,57,9) ,B=(1,3,5,7} and SCANBIDE = AN REhe

C={2,3,4,5, 6}

9. (a) Draw the graph of : y=x-1 FAR VAN
(b)  Find median and mode: R 4,6,7,4,8,9,7,10 AP lent s ()
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